# A New Subclass Of Bi-Univalent Functions Defined Using Convolution 

O. Karthiyayini and V. Sivasankari<br>Communicated by S. P. Goyal

MSC 2010 Classifications: Primary 30C45
Keywords and phrases: Bi-Univalent functions, Coefficient estimates, Convolution, Faber polynomial expansions, Subordination.

The Authors are thankful to Prof. S. P. Goyal for his exceptionally helpful comments and suggestions which enhanced the presentation of the paper.


#### Abstract

In this paper, we introduce a new subclass of bi-univalent function by making use of convolution(or Hadamard product) of analytic functions. We obtain the coefficient bounds and initial coefficient inequalities of this class using Faber polynomial approach. Connections to earlier known results are briefly indicated.


## 1 Introduction, Definitions and Preliminaries

Let $A$ denote the class of functions of the form:

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disc $U=\{z: z \in \mathbb{C}$ and $|z|<1\}$ and satisfy the normalization condition $f(0)=f^{\prime}(0)=1$.

For functions $f(z)$ defined by (1.1) and $g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n}$ we define the convolution of $f(z)$ and $g(z)$ by $(f * g)(z)=z+\sum_{n=2}^{\infty} a_{n} b_{n} z^{n}, z \in U$

Let $f(z)$ and $g(z)$ be analytic functions in U , we say that $f(z)$ is subordinate to $g(z)$, written as

$$
f(z) \prec g(z)
$$

if there exist a Schwarz functions $w(z)$ in $\mathbf{U}$, such that $f(z)=g(w(z))$ with $w(0)=0$ and $|w(z)|<1 \quad(z \in U)[10]$
In particular, if the function $g(z)$ is univalent in $U$, then the above subordination is equivalent to

$$
f(0)=g(0)
$$

and

$$
f(U) \subseteq g(U)
$$

Let $S$ be the class of A consisting of the functions of the form (1.1) which are also univalent in U. According to Koebe one quarter theorem [10], it is well known fact that every function $f \in S$ has an inverse $f^{-1}$, which is defined by

$$
f^{-1}(f(z))=z(z \in U)
$$

and

$$
f\left(f^{-1}(w)\right)=w \quad \text { for } \quad|w|<1 / 4
$$

A function $f(z) \in A$ is said to be bi-univalent in $U$ if both $f(z)$ and $f^{-1}(z)$ are univalent in $U$. Let $\Sigma$ denote the class of all bi-univalent functions in $U$ given by the Taylor-Maclaurin series
expansion (1.1). Recently Hamidi et.al [13] and S. Bulut [7] have used the Faber polynomial approach to find coefficient estimates for subclasses of bi-univalent functions. Motivated by their work, in the present paper we introduce a new subclass of bi-univalent functions using convolution and obtain the upper bounds for the same.
We now introduce the subclass $B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$ of bi-univalent functions as follows:
Definition 1.1. A function $f(z) \in \Sigma$ is said to be in the class $B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$, for $\lambda \geq 0$ if the following conditions are satisfied:

$$
e^{i \beta} \frac{(1-\lambda)(f * g)(z)+\lambda(f * h)(z)}{z} \prec \phi(z) \cos \beta+i \sin \beta \quad(z \in U)
$$

and

$$
e^{i \beta} \frac{(1-\lambda)(F * g)(w)+\lambda(F * h)(w)}{w} \prec \phi(w) \cos \beta+i \sin \beta, \quad(w \in U)
$$

where $\beta \in(-\pi / 2, \pi / 2)$ and $F=f^{-1}$.
Remark 1.2. By giving special values for $g, h, \phi, \lambda, \beta$, we obtain several subclasses of biunivalent functions that were studied earlier in the literature ([6],[9],[11],[12],[14],[20],[15],[5], [16], [17], [4], [21]) out of which few are listed below.
(i) $B_{\Sigma}^{\lambda, 0}\left[f, z+\sum_{n=2}^{\infty} n^{p} z^{n}, z+\sum_{n=2}^{\infty} n^{p+1} z^{n} ; \phi\right]=B_{\Sigma}(p, \lambda, \phi)$, this class was introduced and studied by Altinkaya and Yalcin [6].
(ii) $B_{\Sigma}^{1, \beta}\left[f, g, z+\sum_{n=2}^{\infty} \frac{\Gamma(n+1) \Gamma(2-\lambda)}{\Gamma(n+1)-\lambda} z^{n} ; h\right]=B_{\Sigma}^{\lambda, \beta}(h)$, this class was introduced and studied by Goyal and Goswami [12].
(iii) $B_{\Sigma}^{1,0}\left[f, g, z+\sum_{n=2}^{\infty} n z^{n} ; \frac{1+(1-2 \beta) z}{1-z}\right]=H_{\Sigma}(\beta)$, this class was introduced and studied by Srivastava et.al [20].
(iv) $B_{\Sigma}^{\lambda, 0}\left[f, \frac{z}{1-z}, \frac{z}{(1-z)^{2}} ; \frac{1+(1-2 \alpha) z}{1-z}\right]=Q_{\lambda}(\alpha)$, this class was introduced by Ding et.al [9] and studied by Frasin and Aouf [11] and improved by Jhangiri and Hamidi [14]

## 2 Coefficient bounds for the class $B_{\Sigma}^{\boldsymbol{\lambda}, \boldsymbol{\beta}}(f, g, h ; \phi)$

Using the Faber Polynomial expansion of functions $f(z) \in A$ of the form (1.1), the coefficients of its inverse map $F=f^{-1}$ may be expressed as [2], $F(w)=f^{-1}(w)=w+$ $\sum_{n=2}^{\infty} \frac{1}{n} K_{n-1}^{-n}\left(a_{2}, a_{3}, \ldots\right) w^{n}$ where

$$
\begin{gathered}
K_{n-1}^{-n}=\frac{(-n)!}{(-2 n+1)!(n-1)!} a_{2}^{n-1}+\frac{(-n)!}{(2(-n+1))!(n-3)!} a_{2}^{n-3} a_{3} \\
+\frac{(-n)!}{(-2 n+3)!(n-4)!} a_{2}^{n-4} a_{4}+\frac{(-n)!}{(2(-n+2))!(n-5)!} a_{2}^{n-5}\left[a_{5}+(-n+2) a_{3}^{2}\right] \\
+\frac{(-n)!}{(-2 n+5)!(n-6)!} a_{2}^{n-6}\left[a_{6}+(-2 n+5) a_{3} a_{4}\right]+\sum_{i \geq 7} a_{2}^{n-i} V_{i}
\end{gathered}
$$

such that $V_{i}$ with $7 \leq i \leq n$ is a homogeneous polynomial in the variables $a_{2}, a_{3}, \ldots, a_{n}$ [3].
In particular, the first three terms of $K_{n-1}^{-n}$ are

$$
\begin{gathered}
\frac{1}{2} K_{1}^{-2}=-a_{2} \\
\frac{1}{3} K_{2}^{-3}=2 a_{2}^{2}-a_{3}
\end{gathered}
$$

$$
\frac{1}{4} K_{3}^{-4}=-\left(5 a_{2}^{3}-5 a_{2} a_{3}+a_{4}\right)
$$

In general, for any $p \in N$, an expansion of $K_{n}^{p}$ is as, [[2],p.183]

$$
K_{n}^{p}=p a_{n}+\frac{p(p-1)}{2} D_{n}^{2}+\frac{(p!)}{(p-3)!3!} D_{n}^{3}+\ldots+\frac{p!}{(p-n)!n!} D_{n}^{n}
$$

where $D_{n}^{p}=D_{n}^{p}\left(a_{2}, a_{3}, \ldots\right)$ and by [18]

$$
D_{n}^{m}\left(a_{1}, a_{2}, \ldots, a_{n}\right)=\sum_{m=1}^{\infty} \frac{m!\left(a_{1}\right)^{\mu_{1}} \ldots\left(a_{n}\right)^{\mu_{n}}}{\mu_{1}!\ldots \mu_{n}!}
$$

while $a_{1}=1$, and the sum is taken over all non negative integers $\mu_{1}, \ldots, \mu_{n}$ satisfying

$$
\begin{gathered}
\mu_{1}+\mu_{2}+\ldots+\mu_{n}=m \\
\mu_{1}+2 \mu_{2}+\ldots+n \mu_{n}=n
\end{gathered}
$$

It is clear that $D_{n}^{n}\left(a_{1}, a_{2}, \ldots, a_{n}\right)=a_{1}^{n}[1]$.
Theorem 2.1. For $\lambda \geq 1$, if $f(z) \in \Sigma$ satisfies (1.1), is in the class $B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$ If $a_{k}=0 ;(2 \leq$ $k \leq n-1$ ), then

$$
\left|a_{n}\right| \leq \frac{2 \cos \beta}{(1-\lambda) g_{n}+\lambda h_{n}}, n \geq 4
$$

where $\beta \in(-\pi / 2, \pi / 2)$.
Proof. Let $f(z) \in \Sigma$ be as given in (1.1). Therefore,

$$
\begin{equation*}
e^{i \beta} \frac{(1-\lambda)(f * g)(z)+\lambda(f * h)(z)}{z}=e^{i \beta}\left[1+\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] a_{n} z^{n-1}\right] \tag{2.1}
\end{equation*}
$$

and for its inverse map, $F=f^{-1}$,

$$
\begin{align*}
& e^{i \beta} \frac{(1-\lambda)(F * g)(w)+\lambda(F * h)(w)}{w}=e^{i \beta}\left[1+\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] b_{n} w^{n-1}\right] \\
&=e^{i \beta}\left[1+\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] \times \frac{1}{n} K_{n-1}^{-n}\left(a_{2}, a_{3}, \ldots\right) w^{n-1}\right] \tag{2.2}
\end{align*}
$$

On the other hand, since $f \in B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$ and $F=f^{-1} \in B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$, by definition, there exist two Schwarz functions

$$
p(z)=c_{1} z+c_{2} z^{2}+c_{3} z^{3}+\ldots
$$

and

$$
q(w)=d_{1} w+d_{2} w^{2}+d_{3} w^{3}+\ldots
$$

such that

$$
\begin{aligned}
& e^{i \beta}\left[1+\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] a_{n} z^{n-1}\right]=\phi(p(z)) \\
& e^{i \beta}\left[1+\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] b_{n} w^{n-1}\right]=\phi(q(w))
\end{aligned}
$$

where

$$
\begin{equation*}
\phi(p(z))=1+\sum_{n=1}^{\infty} \sum_{k=1}^{n} \phi_{k} D_{n}^{k}\left(c_{1}, c_{2}, \ldots, c_{n}\right) z^{n} \tag{2.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\phi(q(w))=1+\sum_{n=1}^{\infty} \sum_{k=1}^{n} \phi_{k} D_{n}^{k}\left(d_{1}, d_{2}, \ldots, d_{n}\right) w^{n} \tag{2.4}
\end{equation*}
$$

Comparing the corresponding coefficients of (2.1) and (2.3) we have

$$
\begin{equation*}
e^{i \beta}\left[\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] a_{n} z^{n-1}\right]=\sum_{k=1}^{n-1} \phi_{k} D_{n-1}^{k}\left(c_{1}, c_{2}, \ldots, c_{n-1}\right), n \geq 2 \tag{2.5}
\end{equation*}
$$

Similarly from (2.2) and (2.4) we have

$$
\begin{equation*}
e^{i \beta}\left[\sum_{n=2}^{\infty}\left[(1-\lambda) g_{n}+\lambda h_{n}\right] b_{n} w^{n-1}\right]=\sum_{k=1}^{n-1} \phi_{k} D_{n-1}^{k}\left(d_{1}, d_{2}, \ldots, d_{n-1}\right), n \geq 2 \tag{2.6}
\end{equation*}
$$

Now, (2.5) and (2.6) for $a_{k}=0(2 \leq k \leq n-1)$,respectively, yield

$$
\begin{equation*}
\left[(1-\lambda) g_{n}+\lambda h_{n}\right] a_{n} e^{i \beta}=\phi_{1} c_{n-1} \cos \beta \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
-\left[(1-\lambda) g_{n}+\lambda h_{n}\right] a_{n} e^{i \beta}=\phi_{1} d_{n-1} \cos \beta \tag{2.8}
\end{equation*}
$$

Taking the absolute values of $a_{n}$ in (2.7) or (2.8) and using the facts $\left|\phi_{1}\right| \leq 2,\left|c_{n-1}\right| \leq 1$ and $\left|d_{n-1}\right| \leq 1$ we obtain

$$
\begin{equation*}
\left|a_{n}\right| \leq \frac{2 \cos \beta}{(1-\lambda) g_{n}+\lambda h_{n}} \tag{2.9}
\end{equation*}
$$

Theorem 2.2. For $\lambda \geq 1$, if $f(z) \in B_{\Sigma}^{\lambda, \beta}(f, g, h ; \phi)$. Then

$$
\begin{gathered}
(i)\left|a_{2}\right| \leq \min \left\{\frac{2 \cos \beta}{\left[(1-\lambda) g_{2}+\lambda h_{2}\right]}, \sqrt{\frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}}\right\} \\
(i i)\left|a_{3}\right| \leq \min \left\{\frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}, \frac{2 \cos \beta}{\left.(1-\lambda) g_{3}+\lambda h_{3}\right]}+\frac{4 \cos ^{2}(\beta)}{\left[(1-\lambda) g_{2}+\lambda h_{2}\right]^{2}}\right\} \\
(i i i)\left|2 a_{2}^{2}-a_{3}\right| \leq \frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]} \text { where } \beta \in(-\pi / 2, \pi / 2) .
\end{gathered}
$$

Proof. Letting $\mathrm{n}=2$ and $\mathrm{n}=3$ in (2.5) and (2.6) respectively, imply

$$
\begin{gather*}
a_{2}\left[(1-\lambda) g_{2}+\lambda h_{2}\right] e^{i \beta}=\phi_{1} c_{1} \cos \beta  \tag{2.10}\\
a_{3}\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}=\left(\phi_{1} c_{2}+\phi_{2} c_{1}^{2}\right) \cos \beta  \tag{2.11}\\
-a_{2}\left[(1-\lambda) g_{2}+\lambda h_{2}\right] e^{i \beta}=\phi_{1} d_{1} \cos \beta  \tag{2.12}\\
\left(2 a_{2}^{2}-a_{3}\right)\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}=\left(\phi_{1} d_{2}+\phi_{2} d_{1}^{2}\right) \cos \beta \tag{2.13}
\end{gather*}
$$

From (2.10) or (2.12) we have

$$
\begin{equation*}
\left|a_{2}\right|=\left|\frac{\phi_{1} c_{1} \cos \beta}{e^{i \beta}\left[(1-\lambda) g_{2}+\lambda h_{2}\right]}\right| \leq \frac{2 \cos \beta}{\left[(1-\lambda) g_{2}+\lambda h_{2}\right]} \tag{2.14}
\end{equation*}
$$

From (2.10) and (2.12) we have

$$
\begin{gather*}
\left(2 a_{2}^{2}\right)\left[(1-\lambda) g_{2}+\lambda h_{2}\right] e^{2 i \beta}=\phi_{1}^{2}\left(c_{1}^{2}+d_{1}^{2}\right) \cos ^{2} \beta \\
a_{2}^{2}=\frac{\phi_{1}^{2}\left(c_{1}^{2}+d_{1}^{2}\right)}{2 e^{2 i \beta}\left[(1-\lambda) g_{2}+\lambda h_{2}\right]^{2}} \cos ^{2} \beta \tag{2.15}
\end{gather*}
$$

From (2.11) and (2.13) we have

$$
\begin{gathered}
\left(2 a_{2}^{2}\right)\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}=\left[\phi_{1}\left(c_{2}+d_{2}\right)+\phi_{2}\left(c_{1}^{2}+d_{1}^{2}\right)\right] \cos \beta \\
a_{2}^{2}=\frac{\left[\phi_{1}\left(c_{2}+d_{2}\right)+\phi_{2}\left(c_{1}^{2}+d_{1}^{2}\right)\right]}{2\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}} \cos \beta \\
a_{2}=\sqrt{\frac{\left[\phi_{1}\left(c_{2}+d_{2}\right)+\phi_{2}\left(c_{1}^{2}+d_{1}^{2}\right)\right]}{2\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}} \cos \beta} \\
\left|a_{2}\right| \leq \sqrt{\frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}}
\end{gathered}
$$

and combining this with the inequality (2.14) we obtain the desired estimate on the coefficient $\left|a_{2}\right|$ as asserted in the theorem.
Again from (2.11) we have

$$
\begin{equation*}
\left|a_{3}\right|=\left|\frac{\left(\phi_{1} c_{2}+\phi_{2} c_{1}^{2}\right) \cos \beta}{e^{i \beta}\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}\right| \leq \frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]} \tag{2.16}
\end{equation*}
$$

On the other hand, from (2.11) and (2.13) we have

$$
2\left(a_{3}-a_{2}^{2}\right)\left[(1-\lambda) g_{3}+\lambda h_{3}\right] e^{i \beta}=\left[\phi_{1}\left(c_{2}-d_{2}\right)+\phi_{2}\left(c_{1}^{2}-d_{1}^{2}\right)\right] \cos \beta
$$

Since $c_{1}=-d_{1}$, therefore we find that

$$
\left(a_{3}-a_{2}^{2}\right)=\frac{\phi_{1}\left(c_{2}-d_{2}\right)}{2 e^{i \beta}\left[(1-\lambda) g_{3}+\lambda h_{3}\right]} \cos \beta
$$

and using (2.15)

$$
a_{3}=\frac{\phi_{1}\left(c_{2}-d_{2}\right)}{2 e^{i \beta}\left[(1-\lambda) g_{3}+\lambda h_{3}\right]} \cos \beta+\frac{\phi_{1}^{2}\left(c_{1}^{2}+d_{1}^{2}\right)}{2 e^{2 i \beta}\left[(1-\lambda) g_{2}+\lambda h_{2}\right]^{2}} \cos ^{2} \beta
$$

which implies

$$
\left|a_{3}\right| \leq \frac{2 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}+\frac{4 \cos ^{2} \beta}{\left[(1-\lambda) g_{2}+\lambda h_{2}\right]^{2}}
$$

and combining this with the inequality (2.15) we obtain the desired estimate on the coefficient $\left|a_{3}\right|$ as asserted in the theorem 2.2.
Also from (2.13) we have

$$
\left|2 a_{2}^{2}-a_{3}\right| \leq \frac{4 \cos \beta}{\left[(1-\lambda) g_{3}+\lambda h_{3}\right]}
$$

Remark 2.3. By specializing on the parameters $g, h, \phi, \lambda, \beta$ as in Remark 1.2, we obtain the bounds on $\left|a_{2}\right|$ and $\left|a_{3}\right|$ which are improvement of the estimates given in ([12], [19], [5], [20], [9], [11], [17], [4]) and corresponding results due to ([6], [15], [16], [14]).

## References

[1] H. Airault, Remarks on Faber polynomials, International Mathematical Forum Journal for Theory and Applications, 3(9), 449-456 (2008).
[2] H. Airault and A .Bouali, Differential Calculus on the Faber polynomials, Bull.Sci.math, 130(3), 179-222 (2006).
[3] H. Airault and J. Ren, An algebra of differential operators and generating functions on the set of Univalent functions, Bull.Sci.math, 126(5), 343-367 (2002).
[4] A. G. Alamoush and M. Darus, Coefficient bounds for new sub classes of bi-univalent functions using Hadamard product, Acta Universitatis Apulensis, 38, 153-161 (2014).
[5] R. M. Ali, S. K. Lee, V. Ravichandran and S. Supramaniam, Coefficient estimates for bi-univalent MaMinda starlike and convex functions, Applied Mathematics Letters, 25(3), 344-351 (2012).
[6] S. Altinkaya, S. Yalcin, Faber polynomial coefficent bounds for a subclass of bi-univalent functions, C.R.Arcad Sci.Paris, Ser I, (12)1075-1080 (2015).
[7] S. Bulut, Co-efficient Estimates for a subclass of analytic biunivalent functions by means of Faber polynomial expansions, Palestine Journal of Mathematics, 7(1), 53-59(2018).
[8] R. M. El-Ashwah, Subclasses of bi-univalent functions defined by convolution, Journal of the Egyptian Mathematical Society, 22, 348-351 (2014).
[9] S. S. Ding , Y. Ling and G. J. Bao, Some properties of a class of analytic functions, Journal of Mathematical Analysis and Applications, 195(1), 71-81 (1995).
[10] P. L. Duren, Univalent Functions, Grundlehren der Mathematischen Wissenschaften, Springer, Newyork, (259)(1983).
[11] B. A. Frasin and M. K. Aouf, New Subclasses of bi-univalent functions, Applied Mathematical Letters, 24(9), 1569-1573 (2011).
[12] S. P. Goyal and P. Goswami, Estimate for initial Maclaurin coefficients of bi-univalent functions for a class defined by fractional derivatives, Journal of the Egyptian Mathematical Society, (20), 179-182 (2012).
[13] S. G. Hamidi and J. M. Jahangiri, Faber polynomial coefficient estimates for bi-univalent functions defined by subordination, C.R.Acad.Sci.Paris,SerI, 352(1),17-20 (2014).
[14] J. M. Jahangiri and S. G. Hamidi, Coefficient estimates for certain classes of bi-univalent functions, Int.J.Math.Sci., Art.ID 190560, 4 pages (2013).
[15] Karthiyayini. O, Sivasankari. V, New subclasses of bi-univalent functions defined by Subordination, Mathematical Sciences International Research Journal, 4(2), 453-456 (2015).
[16] Karthiyayini. O, Sivasankari. V , New subclasses of bi-univalent functions defined using the convolution structure, International Journal of Mathematical Archive, 12(6), 57-61 (2015).
[17] S. Porwal and M. Darus, On a new subclass of bi-univalent functions, J.Egyptian Math.Soc.,21(3), 190193 (2013).
[18] M. Schiffer, A method of variation within the family of simple functions, Proc.London.Math.Soc. 2(44), 432-449 (1938).
[19] H. M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and biunivalent functions, Appl.Math.Lett., 23, 1188-1192 (2010).
[20] Qing-Hua Xu, Ying-Chun Gui, H. M. Srivastava, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, Applied Mathematics Letters, (25), 990-994 (2012).
[21] A. Zireh and S. Salehian, On the certain subclasses of analytic and biunivalent functions defined by convolution, Acta Universitatis Apulensis , 44, 9-19 (2015).

## Author information

O. Karthiyayini and V. Sivasankari, Department of Science and Humanities, PES University, 1 Km before Electronic City, Hosur Road, Bangalore - 560100, INDIA.
E-mail: karthiyayini.roy@pes.edu ; sivasankariv@pes.edu
Received: August 15, 2017
Accepted: October 21, 2017

